
Front Mount Intercooler; 2015 Subaru WRX (W15-FMIC) 
Packing List 

Item Part Number Description Quantity 

1 W15-FMIC-CORE Intercooler Core Assembly 1 

2 W15-FMIC-CB-1 Tubular Crash Beam/Intercooler Core Mount 1 

3 W15-FMIC-CB-2 Mounting Plate w/ Threaded Tube for Tow Hook 1 

4 W15-FMIC-P1 Intercooler Pipe 1; Flanged to Turbo; BOV mount 1 

5 W15-FMIC-P2 Intercooler Pipe 2; Out of Intercooler Core 1 

6 W15-FMIC-P3 Intercooler Pipe 3; Into Throttle Body 1 

7 SR6370-BLK Silicone Reducing Coupler; Straight; 63 to 70mm; Black 2 

8 ER6370-BLK Silicone Reducing Coupler; 90 degrees; 63 to 70mm; Black 1 

9 SC63-BLK Silicone Coupler; Straight; 63mm; Black 1 

10 10MMSPACER Spacer; 8mm Bolt; 10mm Height; Aluminum 1 

11 91292A147 Socket Head Cap Screw; Fully Threaded; M8; 1.25 TP; 20mm length; 
Stainless Steel 

2 

12 91287A152 Hex Head Cap Screw; Fully Threaded; M8; 1.25 TP; 20mm Length; 
Stainless Steel 

1 

13 93475A270 M8 Flat Washer; Stainless Steel 3 

14 W15-WASHFILL Washer Fluid Filler Neck; three (3) piece assembly 1 

15 W15-FMIC-
RECIRCHOSE 

Blow Off Valve Recirculation Hose; Silicone; Black 1 

16 E50-35-BLK Blow Off Valve Mounting Hose; Silicone; Black 1 

17 T67-73 T-bolt Clamp; 67 to 73mm; Stainless Steel 5 

18 T74-80 T-bolt Clamp; 74 to 80mm; Stainless Steel 3 

19 5388K260 Worm Drive Hose Clamp; 30-44mm; Stainless Steel 2 

20 5388K240 Worm Drive Hose Clamp; 24mm-38mm; Stainless Steel 3 

21 91287A136 Hex Head Cap Screw; Fully Threaded; M6; 1.0 TP; 16mm Length; 

Stainless Steel 

2 

22 90313A507 Flat Washer; Stainless Steel; Oversized 2 

23 2429K39 Hose Coupler; 6mm to 6mm 1 

24 SVH6MM Silicone Vacuum Hose; 6mm ID; 330mm length; Black 1 

25 OBN1.5X47 O-Ring; Buna-N; 1.5mm Wide; 47mm ID (Washing Fluid Fill Neck) 1 

26 ZT100 Zip Ties; 100mm length 3 

Shop for other performance engine parts on our website.

https://www.carid.com/turboxs/
https://www.carid.com/engine-components.html

